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Choose the correct Synonym (Question No, 51 & 52)
Q.No.51  : Accessary :
(A) Moving (B) Real
(C) Additional (D) Hard
Q.No.52  : Auxiliary
(A) subsidiary (B) superior
(C) regent (D) Form

Choose the correct Synonym (Question No. 53 & 54)
Q.No.53 : Actual

(A) Fictitious (B) temporal

(C) Spiritual (D) Extreme
Q.No.54 : Attraction

(A) charm (B) cute

(C) unattraction (D) repuision

Choose the correct meaning of following idioms or phrases
(Question No. 55 & 56)
Q.No.55 : Head and shoulders above
(A) ayoung man havingold (B) clever man
brain
(C) very superior (D) angry young man




Q.No.56 : Atsixes and sevens

(A) in a readymade form (B) completely beaten
(C) irregulary (D) in disorder
Choose the correct Spelling from the group of words given below

(Question No. 57 & 58)

Q.No.57
(A) ommited (B) omitted
(C) ommitted (D) omited
Q.No.58
(A) privelige _ (B) privilege
(C) previlige (D) previlage

Out of the given alternative choose the correct one work substitution
(Question No. 59 & 60)
Q.No.59 : An examination of a dead body

(A) autopsy (B) biopsy

(C) post-mortem (D) pre portem
Q.No.60 : Atarms length

(A) at a safe distance (B) very close

(C) ata specific length (D) at far distance

Please find out the group which contains error. (Question No. 61 & 62 )
Q.No.61 : Thave/ bought/ five dozens/  bananas.

A B C D
QNo.62 : Each/ of the/ girls/ are good
A B C D

Choose the correct preposition and fill in the blanks
(Question No. 63& 64)

Q.No.63 : We congratulated him ................ his success.
(A) on (B) biopsy
(©) of (D) upon

Q.No.64 : The book is translated ........ many languages.
(A) in (B) from
(C) into (D) with




Do as directed

Q.No.65 : sheis too old to walk (Remove to0)
(A) Sheis very old for (B) she is so old that she
walking can no walk
(C) shecannot walk asshe (D) None of this
is old

Q.No.66 : Sheis as wise as Priya (Make comparative)
(A) Priya is not wiser than (B) Priyais wiser than she

she is
(C) Priya and she are equally (D) None of this
wise.
Q.No.67 : "Will you help me please?" She said (Change into indirect
speech)
(A) She asked that will he (B)  She requested him if
help him. he would help her.
(C) She asked will youhelp (D) She asked him to help
me”? him.
Q.No.68 : Choose the correct Article
There was ...... star shining in ......... sky
(A) the, the (B) a,the
(C) a,a (D) the,a

Read the passage and answer the questions from the passage.
(Question No. 69 to 72)

A man who has acquired the habit of reading is very happy. His
mind is filled with knowledge, noble thoughts and high ideals. A man who
does not read is really poor and his life is empty. If we are able to choose the
right kind of books, reading gives us the highest kind of pleasure.

We read some books like novels for more pleasure and
amusement. When we are tired, such books give us healthy recreation. But
we should not read books of fiction only. As we need wholesome food, so
we need serious reading for the mind. We must develop a taste for books on
history, philosophy religion, travel, science and also books of poetry. Such
books give pleasure and education. Books are the most faithful friends.
They are always ready help us and converse with us.




Q.No.69

Q.No.70

Q.No.71

Q.No.72

Q.No.73

: Who according to the writer, is a very poor man ?

(A) who does not write (B) who does not
purchase book
(C) who does not have (D)  who does not read
money

: What do books give us when we are tired ?

(A) Give knowledge (B)  Healthy recreation
(C) Highestkind of pleasure (D) Non of this

: What doe the books do ?

(A) Give pleasure & (B)  Act as faithful friend
education
(C) Helpus & converse with (D) All of above
us
: Write two words for entertainment from the passage ?
(A) healthy & recreation (B) recreation &
amusement

(C) Pleasure & amusement (D) All of above
Read the following poem and answer the questions given
below. (Question No. 73 to 75)
[ want to go abroad my ship,
and sail and sail away.
To see the whales a spouting and
porpoiscs at play.,
To meet Atlantic rollers with their
wild and mighty sweep.
I want to know the dangers and, the
wonders of the deep.
I want to see tall icebergs all
a-sparkle drifting by
With surf about their buttresses,
their spires against the sky.

+ Write the name of fish from the poem

(A) sail (B) whale
(C) spire (D) butters
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. What does the poet want to know ?

(A) To see whales (B) To meet Atlantic
rollers
(C) To know dangers (D) all of above
wonders
. And where does the poet want to go ?
(A) Abroad by air (B) Abroad by ship
(C) an Atentic (D) non of above
WA Ui TYATd e STl i @@ F Wl wgY Hag
(A) TYUT qaFIS (B) YUl I
(C)  37qui wiarhies (D) 3TUT FAATHTS
Al TR W1 AT ST
(A) YUl wigsTes (B) Yo7 a3
(C) YUl WiaTFTS (D) ol SHHHS

AR UEE e W ISEd W 9EE-shHiE

. | M T
(A) HeRHF el (B)  3TehHe Felll
(C) pHol (D) wm&
;S GIAT HEHE.
(A) 3THHS Hall (B) Hui
(C) w& (D) EHHF FaU

TR TAE WA A 3 F g e
CEATAR Sheled] ST SiarEl 9 s,

;e SUFR O S faeie 2 (faumrt w=1)

(A) T STFR H foria @ (B)  HY e SUSKTE

L. WAhg .
(C) o que Fas 0N, (D) oY IUFR T HB9
ferRoR AR

. TOTEAT SO 3TUNE g, (379 9 SEHdT HeRRTe )

(A) e S0t eTuiEr Aegd.  (B)  &rer st ufess
Teed.
(C) oren ot O Fed (D) et STt geRii id

11




TR W% TRITET SR 0T & St @ v wag R,

(u¥ . 82 7 83)
U 3. 82 : T Ut WA 91 qreAat Hash A,
(A) sy ar (B) dge @
(C) Faw am=g (D) @it =,
T %, 83 : T gU AW FIA W A A e,
(A) foy am=g (B) wehardt A
(C) dae G (D) Hysa 9

WA T} TRTEEE e T W SN ¥ gatg R
(91 %. 84 7 85)

T . 84 FEN AT
(A) zzgEn (B) wwurmx
(C) TEmE (D) TEer
YT . 85 : ST e @iee Mey
(A) qo=T (B) <ot
(C) =g Fm (D) Toewwm
Qe Yot SREITERIET 9 gt gate Rraer
(UFT . 86 9 87)
UsT %, 86 : &% a0t
(A) e ot (B) <iw vt
(C) s S (D) It @
T %. 87 : 5 @
(A) T gl ot (B) tadm vwut
(C) 3 =i gt (D) o= §E
s . 88 H@?ﬁ‘?%’“‘lﬁ
(A) = 7 (B) e o
| (C) w5 7y (D) wyE =
WA %, 89 : fevreT™ W wust
(A) v (B) =rEm Wi Fqot

(C) q&m (D) =ER

12




Qrelier Teotoar wresian §amE Near. (W99 %, 90 9 91)
v %. 90 : SieT wAEo

A f e | (B) wgsgrau
(C) et | D) wHURT
g %, 91 : g ® A
(A) % TG qEIH (B) 3IUTT TACITY {HI
(C) HHYRT 99 (D) fawerit qoqey 99

Tl Tee ETE 9K I e SRa O 9R ST U v
featear vreTer wwAT A O A (W F. 92 7 93)
g %, 92 ot

(A) T (B) et
(C) =gu (D) wuem
U k. 93 . @
GV (B) =W
©) &5y (D) ER

Wefer Tat |fefeaepie ZieeT /et shiort
T F. 94 e ? (W F. 94 9 95)

(A) Frdw (B) @t

(C) w= e D) wquRl
T ®. 95 : v MR )

(A) Twifeg (B) THeRal

© (D) o™

TIA AR T FeRie FerEt 39 o (79 3. 96 7 100)

gﬁﬁnmwmﬁmﬁﬁaﬂmmwﬁn&z T=
frelt &ort Przamame  aweren  fevErpR wERE as'n"rwéﬁﬁ
2. FEFTE] F¥e TUUIR F AESAE Wivet WVR 3™ IF T Fr A
A, T TR WEHR NS Feret T UHHAT FEA qESaE TEE T Fee
wﬁwmm,w,ﬁmamﬁm.mﬁww
TR B, TR AR YAV TehiST TGRSt qaaar SHIo 3ot S

13




AuF B, AR IR TRy ear gidl. a1 sefemteREma urRomm
BUA TS ZRFERRESY THI0T d6d 9 USENes YHIT FH Ed. SR
IANATRIES STHAAT TASIUTTHE EF BT, S 0T olgld 2l o ST
fargeiet  UeTSiUet  gRERITAT Wi aRfaad.  gefeRieRes  wAsTen
TATTEATAT FAaR TR0 §E RS F TYFEERE R A1 S,

G2 WieedH A5 % Bt & ITUH SR, A1 3¢ B2 B HH 6 o
Ugslt Falge aRaead BRI, WA § SeRwREE § A A ArE.
T HeA g9 FH! ) ed A6, SO ARiE 0E femed.  wel IR,
%2 Hl FAMT SN ded GRS WEnETd WHIOT 10% T ST
AAteAE s werArE (377 iferd i, o defidrer) WHTOT 33% dem
ST AR TR ACTSTAeEs BaTrdld THI0 30% 7 ST S,
T . 96 : FAREHE FIM THR T S A

(A) &eTh- 38, Wi 9 STe- (B) - 9K, 9, fge-

TR T HHTA
(C) % TEUR- SHST a5z, (D) AT AR
U T AESS TER-
gz, fawne
WA k. 97 EEIIIINT YT I Agadr
(A) ZEFTERES (B) famresiet terdiua
(©)  wpfer (D) =Rt Ty

T . 98 ¢ AR g U vaTd ohEe A o SRl
(A) SRT % g TRT Fegsh (B) oW %2 d ST Faigk
(C) FME I FA FaE (D) oW H2 F FH Hagd
T % 99 FACHE THAHEG ... I TR B,

(A) [ (B) d«
(C) ¥=qids %e (D)  ToTeisT
WA . 100 FRRIEE T TSRS Here THT @it
A9,
(A) 10 ZoaF deqr &4y (B) 33z deqr &t

(C) 30 === aqY (D) 33 Zok Uen S

14




Fed feuomEEt Arm

15




wed fegumaret s

16




